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1. BEISROE
(D)FEUNE
BEARMEERLS 1,590 1,590
BEARIAEZEFIR 1,590 1,590
WESEERLD 22,460 22,460
BEEEEFIR 22,460 22,460
SZHYBh A & 529,980 90,300 620,280
HAREAEBIRY & 529,220 90,300 619,520
WHEEEIRNE 760 760
IBTEIEKRAE DS DIREERHA 17,640 17,640
HEUN 20 20
FEUNLEET 570,100 91,890 661,990
(2)FEER
E
152 S EREM 28,750 28,750
ey NE T 67,420 67,420
1 EIREE S SR ARE 4,890 4,890
IREHS T E A 3,700 3,700
BAEEE 11,860 11,860
FRE3EE 41,310 41,310
I ENEE 287,500 287,500
TEREE 1,750 1,750
==t 54,360 54,360
ERETE 20,050 20,050
ENR| & AE 1,600 1,600
BISIERE 5,410 5,410
B lRmE 370 370
EER 22,240 22,240
RER 13,320 13,320
&% 2,710 2,710
[RiRE 1,700 1,700
B 13,390 13,390
ZIEE TN 55 55
ME 2,815 2,815
RATEENE 0 0
BEREET 585,200 0 585,200
=EnH
1% E RN 14,660 14,660
ey NE T 18,510 18,510
1 EIREE S SR ARE 2,930 2,930
IREHS T E A 1,800 1,800
BAEEE 8,100 8,100
RERHE 3,210 3,210
ERETE 3,280 3,280
ENml S AE 500 500
BIEERE 2,310 2,310
Hit mmE 1,710 1,710
Bk EE 1,200 1,200
Sarl 11,130 11,130
=iE 770 770
R e 2,630 2,630
AR 150 150
ME 3,000 3,000
RAMERNE 2,110 2,110
=SElEst 0 78,000 78,000
FEEA 585,200 78,000 663,200
MR IRRER A15,100 13,890 A1210
2. BEEIMEROZP

FEIUNLEET 0 0 0
EENERR 0 0 0
MR MERER 0 0 0
2 HA— A% 1E kA EE Y Rk A A15,100 13,890 A1,210
— R IERRAEEHI RS 55,047 206,763 261,810
— RS IEBRAAEEHAKR TR S 39,947 220,653 260,600
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Y E & R Sl iE 1 5 0 0 0
— AR IEBRBAEEN DIEESER 17,640 0 17,640
2 HAE 7E 1E kB4 EE 1S iR ER A17,640 0 A17,640
IEBEIEKRIIERS%S 1,543,326 0 1,543,326
IBEIEKIAERRIRS 1,525,686 0 1,525,686
I IERRAEEHARIRS 1,565,633 220,653 1,786,286




